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1IE #7543 f1 (normal distribution)
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f(x)zo_\/%

H ™ R 5% (Gaussian distribution) &+ FF
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S (—O0,00)
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1 exp( (”‘“)2) for 2 & {00, 00]
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f(z) AHEEBEBRTHSENIHA
o f(z) >0 [FBEDH

o LI'F,
/ f(x)dr =1

ZABAT 5. TD=HIZFT, BRSBTS
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/f d$—/f ) g 2355((%

Bl: flz)=x, X =12,3] D&EE, EBIE

/f da:—/2xda:—[— ] :g
RIZ g(r) = rPIZHLTHDEHES S,

= V2.VE, f(g(r) =1, % = DT
V3

V3 _ i,
/f(g( ))d_xd'r‘_/ 7”‘2-2'rd7°: 17’*4 :E
R dr NG) _2 IV 9




MM H 1B BT (= ) 126

//fazydydx_//f (r. 0. h(r.0))|J|d0dr

v=g(r0) X =g(R,0O) J_(gf,’f %’5)

y=h(r,0) Y =h(R,0) oy 0y

J : YaE 7> 175(Jacobian matrix)
| J|:VAET U ATHIOTHH(VIET D)
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Ek:
g(r,0) = rcosf, h(r,0) =rsinf
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BIEDEELY, ROH ™ ATES (Gaussian integral)
DRXZEF5. o B
/ e~ dr = /7
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= : exp( o #)2) for x € (—o0, 00)

oV 2 2o~

s / f(a)de — 1 E#-Foetmd

/_O; f(z)dz = U\}% _O; exp ( (”32_05)2> dz

= UO 227T N exp (—TQ) dr
T — pu
—1 =

o2
dr = 0\/§dr
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.
Flaz) = . 127r exp ( (33205) ) for x € (—o0, )
1A E(X) = p
78 V(X) =o?
o2t
BEEREM: Mx() =exp (,ut i )
HIFFE 1 P o? DERDPTE N(u,0?) TRY
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o\2r ) o 202
= a\/lﬁ _O; exp (—% 2° —2(u+ o)z + ,u2}) dx
i [ (T e 5
= exp (,ut 4+ %) /_O; - 127T exp (_ {z— (ﬁ;;g2t)}2> dz
\ J

242 o o e s
= exp (ut + %) N(p+o°t,0”) DEEZEEBDES (=1)

HFFIEC R DA (FEE !



1IE 78 53 % D 5l 132

uuuuuuuuu
---------------------------------------



ERASHDOEE HE)

—RICE(X)=p, V(X) =’ DEE, X DRMER
Y =aX+bIZRLT

EY)=au+0b, V()=a0

ERR Y

BH[Z X H'1

i N (p,0%) ITRSEE, VI

124> (GEBAIETE =R )

BT, ERIEM Z — (X — p) /o BEHRSH

N(0,1) FHZ#T

LI 5

Y ~ N(ap+ b, a’c?)
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ERR 73

7 ~ N(0,1)

T [Z5ED

- $74> fa (standard normal distribution)
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N(0,1) IZ¥L T,

+H

o [-1,1|DE A

o [-2,2]MEnH

+H

+H

o [-3,3]MEHA

Z$968. 27%
Z#995. 45%

Z%$999. 73%
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X DREEE I%ﬁy&h flo) X 1Y) oLE v
dt

g(y) AL
EVh HEREEERDIES S

X HERBH N(u,0%) ISHSEE, TOBRRBLER
Y = agX + b [FIEERD*
N (ap +b,a*c?)
[CHEDEZEERAE K.
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